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1. Introduction



Section 2: Online Exercises 4
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Section 4: Graded Quizzes with JavaScript 7

Begin Quiz Using the discriminant, b2 � 4ac, respond to each of the
following questions.
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2. What TE

http://www.math.uakron.edu/~dpstory/acrotex/examples/html/jquiztst.pdf
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Solutions to Exercises

Exercise 1. We evaluate by integration by parts:Z
x2e2x dx = 1

2 x2e2x �
Z

xe2x dx u = x2, dv = e2x dx

= 1
2 x2e

=



Solutions to Problems 12

Problem 2.1. The answer is yes. The de�nition states that F is an
antiderivative of f if F 0(x) =( x( )5.498[(x)]TJ/F19 9f 5.694 0 Td [()5.497(if)]TJ/F22 9.9626 Tf 9.133 0 Td 4.114TJ/F24 6.9738 Tf 7.79 3.615 Td [(4.114TJ/F24.9626 Tf 2.795 -3.615 Td [(5050)]TJ/t 9.9626 Tf 199.454 3.597[(x)]TJ/F19 9.9626 T.968(cos.9626 Tf 2.795 -3.615 Td0 Gd [(f)]TJ/t 9.9626 Tf 199.454 3.598[(x)]TJ/F19 9f 11.11)-7)-3-1 Tf36x)]TJ/hence,6 Tf 2.795 -3.615 Td0.441t( x



Solutions to Problems 13

Problem 2.2. The answer is yes. The de�nition states that F is an
antiderivative of f if F 0(x) = ifx(



Solutions to Exercises 14

Exercise 2(b) Acceleration is the rate of change of velocity with
respect to time. Thus,

a =
dv

dt



Solutions to Exercises 15

Exercise 3(a) i2 = �1 �



Solutions to Exercises 16

Exercise 3(b)
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Solutions to Quizzes 19

Solution to Quiz:

In 1492,
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Solution to Quiz:
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Solution to Quiz:
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